
１　2424 + (−6)

２　
5
1212

−
3
8

３　4(x − 3y3y) − 5(2x2x − 3y3y)

４　18ab18ab18ab18ab2 + 3ab3ab3ab % (−4b4b)

５　 6 ( 3 + 6 ) −
1010

2

６　(x + 5)2 + (x − 3)(x − 1)

321

１　(−4) % (−9)

２　(−
5
6
) +

4
9

３　2(2a2a − b + 3) − (a − 3b3b + 5)

４　14x14x14x2y + (−6xy6xy6xy) % 3y3y

５　 1212 −
9

3
+ 5 3

６　(x + 5)(x − 2) + (x + 4)(x − 4)

322

１　−3 + 7

２　1.7 % (−3)

３　4(2x2x + y) + 3(x − 3y3y)

４　(12a12a12a2 − 9a9a) + 3a3a

５　
1212

6
− (1 + 6 )(3 − 6 )

６　(x + 4)(x − 4) − (x − 3)2

323

１　(−2424) + 8

２　
1
5
− (−

2
3
)

３　3(−2a2a − b + 1) − 2(a − 3b3b)

４　36x36x36x2y + 4y4y + (−3x3x)

５　(3 + 2 )(3 − 2 ) −
2727

3

６　(x − 4)(x + 6) + (x − 5)2

324

１　5 + (−1111)

２　(−2.5) % 0.6

３　2(x − 3y3y − 2) + 3(2x2x + y − 1)

４　8a8a2b − abab % 3a3a

５　( 3 − 2)2 +
1515

5

６　(x + 5)(x − 5) − (x + 1)(x − 7)

325

１　−5 − 2

２　(−4)2 %
1
1212

３　4(x − 3y3y) + (x + 5y5y − 6)

４　28ab28ab28ab28ab2 + 4ab4ab4ab % 3b3b

５　
1010

5
+ (3 + 5 )(2 − 5 )

６　(x + 2)2 − (x − 3)(x − 4)

326

１　5 − (−6)

２　
9
1010
+ (−

3
5
)

３　(x + 3y3y − 4) − 2(2x2x − y − 5)

４　(42a42a42a2 + 6ab6ab6ab) + 6a6a

５　 2 ( 6 + 2 ) −
9

3

６　(x + 6)(x − 6) + (x + 4)(x + 5)

327

１　(−4242) + (−7)

２　
4
9
−
5
6

３　3(−a + 4b4b − 3) − (5a5a + 2b2b − 7)

４　20ab20ab20ab20ab − 12ab12ab12ab12ab2 + 4b4b

５　
1818

1212
− ( 3 − 1)2

６　(x − 3)(x − 7) + (x + 4)(x − 4)

328

１　(−7) + (−2)

２　0.3 % (−0.4)

３　3(2x2x − 3y3y + 5) − 2(x − 4y4y − 7)

４　36ab36ab36ab36ab2 + 3b3b + 4ab4ab4ab

５　( 1212 + 1)( 1212 + 5) −
3030

1212

６　(x + 1)(x − 5) − (x − 6)2

329

１　1818 + (−6)

２　−
1
4
+
5
6

３　4(3x3x − 2y2y) − 3(2x2x − 5y5y − 1)

４　15a15a15a2b + 6a6a2 % 4ab4ab4ab

５　( 8 + 3)( 8 − 2) +
1010

2

６　(x + 3)(x + 5) − (x − 7)2

330

１　2424 + (−4)

２　
5
9
−

7
1212

３　3(x − 3y3y) − 4(2x2x − 5y5y)

４　24ab24ab24ab24ab2 + 6ab6ab6ab % (−3b3b)

５　 6 ( 2 + 6 ) −
2121

3

６　(x + 5)2 + (x − 1)(x − 6)

331

１　(−4) % (−9)

２　(−
5
6
) +

7
9

３　2(3a3a − 2b2b + 1) − (2a2a − b + 3)

４　12x12x12x2y + (−9xy9xy9xy) % 3y3y

５　 1818 −
1010

2
+ 4 2

６　(x + 5)(x − 3) + (x + 2)(x − 2)

332

１　−4 + 9

２　1.8 % (−3)

３　5(x + 2y2y) + 3(2x2x − y)

４　(20a20a20a2 − 12a12a12a) + 4a4a

５　
1515

5
− (2 + 5 )(3 − 5 )

６　(x + 5)(x − 5) − (x − 3)2

333

１　(−2828) + 7

２　
1
4
− (−

2
5
)

３　3(−2a2a − b + 3) − 2(a − 3b3b)

４　36x36x36x2y + 4y4y + (−3x3x)

５　(3 + 5 )(3 − 5 ) −
2727

3

６　(x − 2)(x + 5) + (x − 4)2

334

１　5 + (−1111)

２　(−2.5) % 0.6

３　2(x − 2y2y − 1) + 3(x + 2y2y − 3)

４　10a10a10a2b − abab % 5a5a

５　( 3 − 2)2 +
1515

5

６　(x + 7)(x − 7) − (x + 1)(x − 5)

335

１　−3 − 5

２　(−6)2 %
1
2727

３　3(x − 2y2y) + (x + 5y5y − 4)

４　48ab48ab48ab48ab2 + 6ab6ab6ab % 3b3b

５　
6

2
+ (3 + 2 )(2 − 2 )

６　(x + 5)2 − (x − 3)(x − 4)

336

１　5 − (−4)

２　
9
1010
+ (−

3
5
)

３　(x + 2y2y − 7) − 2(3x3x − 2y2y − 4)

４　(15a15a15a2 + 3ab3ab3ab) + 3a3a

５　 3 ( 6 + 3 ) −
1010

2

６　(x + 5)(x − 5) + (x + 3)(x + 2)

337

１　(−4242) + (−7)

２　
3
8
−

7
1212

３　2(−a + 4b4b − 3) − (3a3a + 5b5b − 6)

４　18ab18ab18ab18ab − 12ab12ab12ab12ab2 + 4b4b

５　
6

1818
− ( 2 − 3)2

６　(x − 2)(x − 5) + (x + 3)(x − 3)

338

１　(−5) + (−6)

２　0.2 % (−0.7)

３　3(2x2x − 4y4y + 1) − 2(x − 5y5y − 3)

４　40ab40ab40ab40ab2 + 2b2b + 5ab5ab5ab

５　( 1212 + 1)( 1212 + 3) −
1818

1212

６　(x + 1)(x − 4) − (x − 6)2

339

１　3535 + (−5)

２　−
1
4
+
5
6

３　4(3x3x − 2y2y) − 3(x − 3y3y − 2)

４　16a16a16a2b + 12a12a12a2 % 3ab3ab3ab

５　( 8 + 5)( 8 − 3) +
1010

2

６　(x + 3)(x + 7) − (x − 4)2

340
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